[Blytg ‘ Circle Theorems
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1 A, B, Cand D are points on the circumference of a circle with centre O.

Angle ABD = 81°
Angle BDC = 42°

(a) Work out the size of angle CAB.

+
N

(b) Work out the size of angle ACD.

(c) Work out the size of angle AEB.

(d) Work out the size of angle BEC.

o
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(Total for Question 1 is 4 marks)

u L r@ @1stclassmaths

www. 1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

° . r@ @1stclassmaths

2 A, Band C are points on the circumference of a circle with centre O.

[ C
B

Angle ABC = 79°

(a) Work out the size of angle CAB.

|

(b) Give a reason for your answer to part (a)

The avale in a sevcirele, \s 90°

Ang\(’.su oA Q......b.c.i.uns\.& ...... add Lo \80°

(Total for Question 2 is 2 marks)

3 A Band C are points on the circumference of a circle with centre O.

Angle CAB = 29°

(a) Work out the size of angle COB.

X

(b) Give a reason for your answer to part (a)

(Total for Question 3 is 2 marks)
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4 A, B, Cand D are points on the circumference of a circle with centre O.

Angle ADC = 96°
Angle BCD = 115°

(a) Work out the size of angle ABC.

(b) Give a reason for your answer to part (a)

O?\Qogi’fb cm&\(’.s n Qo (,d(,\?o owa&ri\ahm_,\.

0

add. O 120

(Total for Question 4 is 2 marks)
5 A B, and C are points on the circumference of a circle with centre O.

AB is the tangent to the circle at point C.
A

(a) Write down the size of angle OCB.

(b) Give a reason for your answer to part (a)

A_tangenk meets o vodive ak 907

(Total for Question 5 is 2 marks)

www. 1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

° . r@ @1stclassmaths

6 A, B, Cand D are points on the circumference of a circle with centre O.

A

Angle DAC = 68°
Angle ADO =45°

Work out the size of angle ABC.
Give reasons for each stage of your working.

Pngle DOC= 136°

The un&\e. ak the wmkre s bwice the
OV\S\Q. ol the greumeence.

Angle ODC = Angle OCD = 2°

%use, ang\es in an icosceles ’W\w\{)\e ue %“"L

Ahg\e AD(C= 22+ 4S
- 67
Anj\b ABC= |80~ 67
= ({13
OQ?og.*e, cm&\es n Q (’Q\(’\ \C O\Iua&r\\ahml

QA(L O \%O
L3

(Total for Question 6 is 4 marks)
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7 A, B, Cand D are points on the circumference of a circle with centre O.
EF is the tangent to the circle at point D.

Angle ACD = 84°
Angle CDF = 53°

Work out the size of angle ABC.
Give reasons for each stage of your working.

An\g\e DAC = 52°

Alternate segmenk e orem,
w‘\r@le— ADC = 43° o
Anﬁ\cs n o h'\wd\t addd o 180

An&\b ARC= 180- 473
= |'$Q'°

DQQosi*% cmﬂ\% n o (,dg\ic %ua&rQ\aRVd
add (O 130"

123

(Total for Question 7 is 4 marks)
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8 A, B, and C are points on the circumference of a circle with centre O.

Angle AOB = 130°

Work out the size of angle ACB.
Give reasons for each stage of your working.

P\ng\c APR = 65°
The w\a\e. ok the cnkie s buvce the
on & ot e grumCuence.

M\S\b ABC= 180-65
= \\S
0??05;’& cmg\es n o L:\(,\lc %ua&fQ\ahvd

QA(L \O \20

|15

(Total for Question 8 is 3 marks)
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9 A, B, Cand D are points on the circumference of a circle with centre O.

Angle BAD = 79°
BA =BD
Lines AB and DC are parallel.

Work out the size of angle DBC.
Give reasons for each stage of your working.

An le BAD = Angle BDA =34°
Eas,e, o\v\g\es IN an icoscedes ’Lnuna\e e U"ML
Arblc ABD =11° o

An&\cs na hiamd\e. addk o 180

Angle BDL = Angle ABD

Alternake angles are Q(tuo.k

A\n&\b ABC= \gD-'Ll-'l

= 123
O’i?osr\'ﬁ, cm&\es m Q (ﬁ('\ O %ua(\f‘\\ahmx'
add O 180

Pm\r’]e, DRC :=53}°
An&\ts n o hiamd\e. adk o 180

ot
(Total for Question 9 is 5 marks)
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10 A, B and C are points on the circumference of a circle with centre O.

Angle CBO = 27° B

Work out the size of angle BAC.
Give reasons for each stage of your working.

Qn&\e, CRE=Q40-2%
= C,)go

A “W\geuk meeks o radins ok 40

Ar\a\e, W = 63°
Alternare sey ment Tneorem,

A

(Total for Question 10 is 3 marks)
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11 Cand E are points on the circumference of a circle with centre O.

AB and AD are tangents to the circle at C and E.

Angle EAC =70°

(&) Work out the size of angle COE.

Ahe\e, AeD = Ar&\Q, ACO :C(0°
radius ok 40

A‘M\eeuk meeks o
Angle COE=\10° tngle

OC=5cm

(b) Work out the length of CA.
Give your answer to 1 decimal place.

Arw\e, CAD = 25°

C
A 25°

Cem

0o

9

S (nO

add to~ 160° \ 1O
2)

wodn \attrok

(

tan@s)= S

CA

S

CA=_ > _

ton (35\

CA=2W03 .. 3\

)
(Total for Question 11 is 4 marks)
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12 A and B are points on the circumference of a circle with centre O.

DC and EC are tangents to the circle at A and B.
223:2 BAF = 25° [mes not required in Phis (i_\
Work out the size of angle FBC.
Angle AOR = 126° A tongenk meeks o radins ok Q0
and ohd\eé \n a ﬁbuatln‘\al’e,ral. addl to 10’
Angle ARD = Angle R a0 =22°
Rage ov\g\es inan isoscedes ’MO\V{S\@ LA %‘”‘L
Angle APD = 63°
The angle aX the wnkie is bovce the
onge ol the droumCuence.
-Ay\j\e, AFS = \‘Lo
0??05;’& cm&\es n Q g:\(,\io %ua&ri\ahvd
add 0 180 ,
Ange ABF= 47’ Pngles in o biongle odd tp 120

\ o - ’ 0
fngle FBC he o o radiue ox40 L5

- ‘P( '\""‘30\{‘ M (Total for Question 12 is 4 marks)
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13 A, B and C are points on the circumference of a circle with centre O.

EF is the tangent to the circle at C.
Angle ACE =73°

Angle FAB =5 x Angle CAF |
E?%o\sms not reqwm«l n Thig 6_\

Work out the size of angle AFC.
Angle ACR = Q0> The angle i o semitirele is 90°
Q0= 6=1S
Angle CAF = 15’
Angle gee=9qo Angle ACR=12
A‘hv\seuk meeks o radius ok 40
Angle APC= 148" Angles in o bromgle s 1o 130"
Ang\e CPF = 320 l\ng\cs OnG stmial'\’. line add b 120

Angle p7c=58° Angles in o briangle odd o 180’

S8

(Total for Question 13 is 4 marks)
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14 A, B and C are points on the circumference of a circle with centre O.

DE and FG are tangents to the circle at A and B that intersect at the point P.

Angle APB = 78° . ‘
[R%SMS nt ¢ W red in this Q__\
(&) Work out the size of angle ACB.

Angle #AoR = 02 A‘hneeuk meeks o radius ok 40
and aha\f.-‘» lh a c‘/uatlr‘\'\akeral. addl to ’l(’)oo
Angle fc2 = o’ Angt oX the ciccumferene

holf twe ongle ak the cenire, S |
R

(b) Work out the size of angle ABP.
Angle ARD = Angle R0 =10 0
Roge angles inan isoscedes bromgle e cwx

Hho\t., ARY =90 - 34
= 5

A *\'W\&Q,\Ak meeks o radivs ok 40"

(2)
(Total for Question 14 is 4 marks)
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15

A, B, C and D are points on the circumference of a circle.
ABCD is a trapezium with AB parallel to DC.

AB =AC

[Rmsw\s not reqw'u& in this Q__\

Work out the size of angle DAC.
You must show all your working.

e +2 + 3 -8 =180°
Op Pos‘\'e Wles in o csc\.\c q’uaarl\akeva!-
add ‘\'0 180°

6 -6 = |80 A(20)+ 2= 45
6x.= (g6 -8

x= 3I°
Ahgle fcB= Ange ABL = 25
Angle CAB = \0° Pgles in o briongle 0dd tp \20°
Mngle DCA= fingle, CAB  obernake angles 0re el

Angle DAC= TG° Angles ina triangle odd +o180°
B

(Total for Question 15 is 5 marks)
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16
C
B
_ o
\q’("\‘;lw - - S5x -7
A" _ -7
-0
x+7\ \b c
D
P =\V
=

B and D are points on the circumference of a circle, centre O.

ABC and ADE are tangents to the circle. - ‘
[Reusw\s not reqwc& n Thig Q__\

(@) Work out value of x.
You must show all your working.

hna\e. 20D = 2(Sx-7) \Oa - 1% = no]x -3

: ox -4z [Fi-x
C’mm, uns\c ok c\rcm{uuu) x HDL" \ Z?-
hngle ROD = 180 - ber 7Y x= |F

(w\g\bs in q'uadn \akerod O\(l(’. o 3‘0 )

AD =30 cm

(b) Work out the radius of the circle.
Give your answer to three significant figures.

BAD= 27 °  tan(12): 02
O Ad= 30

w D od= 20 -ban(\])
30 mm

3-1%

(Total for Question 17 is 6 marks)

cm
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